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CCE MODEL TEST PAPER 5 

SECOND TERM (SA-ll) 
MATHEMATICS 

-OVith Allswers) 
CLASS X 

General Instructions : 
, , (i) All questivni an- l'O!II{HtL~~ry~ 

(ii) The quesriNt paper comists of 34 {;tw~;rfon.t dil·ided into four sectitJIIS A; B, C and D. SeCtion .-1 
cmilp.rises of 10 qlleJtions uf 1 mmk each;'-ScCtiuri B comprises of 8 '/IWSiiorls af2 IIWrks each, 
St•clirm C cumpn'se.'i of 10 qul!sticm .. <: of J marks each tmd Section lJ comprise.,· of 6 qtJestimu· f{{ 
4 marks eacli.-

(iii) Qucst~on m1mbe~s I to 10 in Secrioit A anf multiple choice quesli(mi wlw·n~)vu are tO select on'c 
correct option· mtt of the given jour: 

(il' )' There_ is no overall choice. However,· imemtit choice has bf:t•n provided in I qiu:Siion of tiro 
rflc1rks, 3 i;ireStitms Of three -uinrks t'adt until quc.stitmiof jinir mm-k.s eac!J, Ymt"lw-~·e io attetiipJ 
only one of lht: altemtJtiws in -nll:"such que'stions. 

(~·) Ust• of dalcuiatorx is nor pt•rmiffed: 

I Section w.J 
Qucsriat~ mtmlm;_~-1 tO ,Q- ~re aj One mnrk- ~at:h. _ _ 

[. Tnt roots of the e:quation ."t1 + .:t- p(p'+ I)= O,:wbCrc f! is a Constant; lin: _ 
(tt) p,p + l -=(b)---:p,p'+.l - -
(c) p.~(p+l) (d) -p,-(p+l) 
2. In an A.P .. if d;:;;- 2, n = .5 and a,1 c: 0, then lhe vulue of tl is 

(a) 10 (b) 5 
(c)-·S (10B 
3. In figUre, 0 is lhc ccnlre oLi circle, All is a chord and A Tis the- ian gent- at;\, If LAOB = 100~; 

then LBAT is equ1.1l to -

(a) !()()" 

(c) 50" 

0 T 
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4. In ligu"rc,- PA 'and PB 3re fang'cnts to' the cirdc with cr.:iltrc' 0. If L4PB = 60'', then LOAB is . 

p 

(a) 30° (b) 60" 
·. (<') 90" . . (d) 15" 

5. The radii oft~io circles arc -J em and 3 em, rCspcctivcly. The diameter oflhe cirde having" area , -. 
._~]ual to the 'sum of the areas of the two circles {in em) is - , 

~)5. 007 
(c) 10 (d) 14 
6 •. A sphere of diaml!ter IS em is dropped into a cylinclrkal vessel of diumctcr 36 em, partly 'tilled 

with \VH!Cr. Ifthc Sphere is comp!eJCly suhmcr<Jcd. !hen the water level rises (In em) by 
(a) 3 (b) 4 
(c) s (d) 6 
7. ThC' OJigi<J of ckv:~tion uf the tOp Of a· (o,wCr from :i point on the ground whkh is 30- rn a;,._;ay: 

from the foot of !'he tower is -l5". ·n1c heig'!J(or the toWer (in metnis.) is 
·(a) 15_ \f)j 30.-:--

. (c) JO:JJ (d) 10:.)J 
8. TI1c point P which divide's tlic line scg_mt:nt joining tbC points AC:l. - 5 j and 8(5, 2) in tli.: futto 

: 2: 31ics in the quadrant__ 
(a)l ·(b)ll 
(c) Ill (d) IV 
9. The mid-point of ~gmcnt All is the poln't ,P(O: 4).lf the coo'rdinal~s of f) arc(- 2, )) tticn the · ·_ · __ -

coortlin3!cS of r1. arc' , · , - · , 
. (a) (2; 5) (/>) (- 2. ~ 5) 

kJ (2; 9) · (d) (-' 2, II) 
10 •. Which of_ the fDllmving cannot be Ihe probability uf an event '! 

-' 3-
{tl) 15 (bj_-;__•, 

. 5 
(c) 25%- tdr 0.3 

I ·StoctloD. .'81 !':. 
Que:\·tian !WIIIhet.s, JJ ro 18 Carrv 2 mi1rk.x c'cicN." _ 
i1. Find the·valuc of rir so that,the'qutuJJ,JtiC equation ritr\.t- 7} + 49-= 0 has two· equal· rOotS. , -
12. Find how many two-iJigit numl:x:rs :~rc divisible by 6. -
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13. _ln figure, !l" drclc touch~o: ull the four sides. ofu quadrilater.JJ AIJCD whvsc sides arc AB"" 6 em, 
BC"" 9 em ;md CD-"' 8 em. Find tbe length of side AD. 

" 14 .. DrJV.' aline scgmcnti\B of kngth 7 em. Using rufcr and compasses, Hnd a point P on All such 
· AP 3 that-=-. 

All 5 
15. Find the perimeter of the shaded rcgfon in figure. if ABCD is a square of side 14 em :iild APEJ 

and CPD aru St:Tni-circlcs.- : . [uSc n = 2~ j 
or-'-----'-,c 

_ _ -A'-'-,--'--~-'B_ _ ____ . _ ___ __ _ ____ _ 
16. 'fwu cubes ~tieh etf volume 27 em- _arc joined end to end to ronn a :;olid. Find Lhc surilllic area 

or the fC!'>Ulting CUh<;jcl, 
Or 

A--c~ml.!·o(hei£h't 20 em :)~d iadi~-~ of busc 5 em i_~ ;natlc-up ormOJCilin£ cl~y: A cri.i!d rcsh~pcs it ln 
the form of a sphere. Find the dlamclcr of the sphere. · __ : 

17. Mod the valuc(s) of y for which the clisl.i.lncc between the 'pOints r4(3. --1) ancl B('l'i. ~·i Js·lO 
uni!s. ·· · · · · · - · 

18 •. .\ ti-cket is ;_ir.a.wn at rils~do_m_ tr~Jn a b'ag c~-ntai~-ing -ricki.!L~ 'numbered froTn_ 1- t~ .:10: f:tnd !he­
probability th:it thi! selec-ted ticket has a number which is a multiple of 5-. 

1- SeCtiOn- ~c~ 1· 
: Quest~·m; triun(,~rs 19 tv 2,) t(]i-ry 3 marks r!<Jt'ft;. · 

19. Find the ·roots of the following qutldr.1t!c equation·: 

2./J:!:-5.~~ .J3 ~o 
20. Fi~u the \'a!uC ·or thC micldlc t-enn of the following A.P. : · 

~6.~2.2 ..... 58~ 
Or· 

Dc-tcrminc the A.P. wh-ose fou~h term is IS and the diffcrcn~c of the ninth icrm froni the tinccnth 
t~un is JO. 
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-21. In figure, a tria11gie ABC is clr..twn to circ-umscribe a cin:lc of radius 2 em such lhitt the: 
scg_mc:nl-1> BD and DC into which 8C is di\,ick:d by thC point of comact D are of lc:ngths 4 -.·m and -
J em t'cspc:_ctivl!ly.Jf arc:nof &.4.HC"" 21 em~. then tlnd thi! lengths ·ur sidli~ An ancl MC. -_ · __ -:-- _ 

- ~ A 

B -_ 4 

12. Drai..., a triangic: AlJC i~ \~liieh An=- 5 em. l:JC = 6 em imJ L:toc =- 60°. Then ton~tn1ct a-
.. . . .. . . . . 5 .· . . . . .· . . • 

tri::mgtc whose sid~CS nrc-- times the currcsponding sides or ru18C 
··. . . • . 7 

23. Find !he area oflhc major scgmc~tAPll, inflgme, of a cirde of radius J5 em and LAOB = 90"; __ 

. 14. The fudii of lhcdr<•lac endS of a bucket of height 15cm nrc !Jcm andrctn (r< IJ em) If the · 

[ 

- - ?!l 
volume Of bucket is 539'0 cm3,-thcn tim.l the value of r. _ Use 1t;:;; ::-7~ j- -· 

25. T~o dice are roll~>d once. Find thc p~bability of gc:Uing such numbers on two dice. whosl! 
·product i~ a perfect sQuare:. · 

Or 
:A gamc · ~oriSistS of lri.ssing ~'l Coin· 3' tinics· and noting itS outCOme Cach time: H:;nir wii1.~' if he gct~­

lhrcc hl!ndS or three t<tils; and loses otheb.visC. CniCuiutc the probabi!ii,y thiu Hanif wilt lose the' garnc. 
26. From the top of a tower 100 rn hish.-.._ _man .observes two ~ats on the ·opposite s!Lic.'> of I he tower _ 

with angles of depression 30° and 45" respeCtively. Firld the distance bctwc~n the cars. 

[U,C JJ ~1.731 
27. If (3, .3}-. {6. y), (x. 7) ;tnd {5. 6) ~·!hi! vcrtkcs of u par.LU~Iogl"«ffi tn.ken in order. find thC: vah.i-cs 

·ofxandy. · 
28. If two vcnkcs of an ~quilntCral triangle arc Cl. 0) and {6, 0). find the third vertex. -

Or 
Flnd lhc ~·a.lue af k, if the Points P{5, 4), Q(7, k) ;mLI R(9,- 2) nre collinear. · 
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I· Settion-'D* -I 
QuCs11'm1 number:,--29 to j4 ~~!in 4 marks (y~ch. 
29. 1\vo WtJtc:r t<ipS iogethc( Cn.n nu·a tmik in 6 hours. The iap of l:it~~r diamctc~ illkcs 9 houP.> less 

th;;tn tht!' sm<~llcr <me ta fill Ute t:Jnk scparatdy. Find the time in which (!ach t:tp can separately till the 
lank, 

Or 
Solve: the following equation for x; 

. I 2 5 .· . 
--+- =--, X:F-J,-2.-4 
x+l x+2 x+4 . 

30. In an A.P .. iftbt! 6th and ~3th !erm~ rir6 35 iliid-10 rcspc:ctivcly, linr.J the sum of its fir;.t 20 terms .. 
31.- Prove thnt the lengths o-f tangents drawn from an external point io a dn:lc_ arc cquitl. 

_ 32._ Pi-oni ;i. thin metallic piece. in the shapC of a !rapt!7.iurn ABCD in which AB ll CD und ·,dJCD = 
90" . .a qoartef circle BFEC is removed (fig\Jrc), Given AB ::= BC""' 3.5 em and DE= 3 dn; dlcul~t£: the' 

urea· Ur the rc~nintng (:;haded) p..m-of the rcicwhhcct.:- - [US¢ :rr ~ ~~ 1 
B 

c 
33._ \Vater is nrn~·ing itt the mtc of 6 kmt1t through a pipe of diamet-er ! 4 em into a rcctanguhir tank 

which j_,. 60 m long_ and 22m wiclc"'D'e-tcnninc the time in which the IC-vcl of !he wi1tcr Jn the t~mk will 

Usc rr.=.::..:: -[ . "] 
.. 7. 

Oi 
A h-ull(;\\'- sphCre of lntc~al n~tl e~i~nial t.li:J.md~',.s 4 cnl and 8 ten~- ~~pcdi:vc!),' is--mcitCd tu- f~nn -~ 

tone of OOsc diameter 8 em. Fincl !he height and t~ slant height of the cone. . · - __ -. _ . : 
34 . . The Shadow or it tower srtinding on n level g:rmmtl is- found to bC"_)Q n-1-lo-Jlgcr. whCn -tlic sun-.,~ -

allituclc is 30"".!ttnn whc~.it is .j]Cl''·: Find the hcignt Or Lhc tower. · -

!ANSWERS I 
Srcfion 1 A' 

I. . (Ct 2. -(d)- 3 •. ' (<:) 
4. (a) . 5. (c) 6. (a) 
7. (h) B. (<Q 9. (a) 

tO. (a) 
·.-section •n· 

ll. m=4 12. 15 !3. .5 em 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



15. 72cm 16. 90 cm2 Or I 0 em 

18. I 
5 

Section 'C' 

19. 
J3 I 

x= 2 andx= .Jj 20. 26 Or 3. 8,11.16 •... 

21. 7.5 em and 6.5 em 

23. 3500 cm2 24. 7cm 

26. 273 m 27. x=8andy=4 

28. (%·3~)or(%--3tl Or k=l 

Section 'D' 

29. 18hours.9hours Or x=Zorx=-l 
2 

30. I ISO 32. 6.125 cm2 

33. I hour Or Height= 14 em, Slant Height·= 2J53 em 
34. 25.95 metres 

17. y=-7or5 

25. 
2 

Or 3 
9 4 
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